TH2EETHHOFEOHITINR

1. —REFFDRR
(1) $ITRR

BmA
(Bfr: FH:%)
RI2EETHEE
S X5
)| &t AL | IRAFEE | IRAZE
1. ™ i 9,257,900 8,351,700 18.7 8,641,552 1035
2. M1 K E 5 286,300 257,084 0.6 276,275 107.5
3.7 F B X F £ 20,000 6,883 0.0 8,019 1165
4. B & B X f £ 33,000 25,969 0.1 29,565 1138
5. #AFREFRFRIRMAE 33,000 21,071 0.0 36,683 174.1
6. EABEBRI M2 73,000 67,733 0.2 68,850 1016
7.8 HE BRI 2 1,590,000 1,478,557 3.3 1,524,502 103.1
8. JLI7BMARIFE 90,000 57,942 0.1 60,431 104.3
O BEMRAXR £ 35,000 28,423 0.1 28,850 1015
10. # A 5 #Hl X 1 & 45,000 56,040 0.1 56,040 100.0
1. A X F 7,124,000 7,152,955 16.0 7,088,556 99.1
12. ﬁﬁfé*‘]fﬁ?’”ﬁﬁ 8,000 8,000 0.0 8,136 101.7
13. SRV EESE 77,802 75,770 0.2 64,973 85.8
14. FRAMRUTFHH 383,314 383,314 0.9 330,510 86.2
15. B E X H £ 5724906 | 14,893,886 333 | 13,082,112 87.8
16. & 2 H & 1,975,759 2,211,622 49 1,832,854 82.9
17. Bf I3 1 A 26,683 26,693 0.1 35,499 133.0
18. & Fet % 200,990 273,090 0.6 275,174 100.8
19. # A & 1,452,724 2,752,993 6.2 758,698 276
20. #& 4 & 20,000 329,385 0.7 329,386 100.0
21. § IR A 403,442 602,378 1.3 273,187 454
22. ™ & 4,924,180 5,629,812 12.6 2,535,080 450
[ A a H 33,785,000 | 44,691,300 100.0 | 37,344,932 83.6




(B FH: %)

DH2EEFHEE

7 F)
=L) &t Rt | ZHFRE | XhE
1. & E=S & 282,238 268,018 0.6 254,069 94.8
2. % =1 2,784,867 | 9,908,766 222 | 9,026,812 91.1
3. R 4 = 11,704,586 | 12,014,769 26.9 | 10,658,530 88.7
4. f& 4 & 4,851,625 | 5367,036 120 | 2959222 55.1
5 % & = 6,321 5,991 0.1 3,020 50.4
6. B M K E ¥ & 498,804 770,897 1.7 352,991 458
7. & T & 936,736 | 2,558,193 57| 1576544 61.6
8. = K & 3,727,788 | 3,974,363 89| 2880738 72.5
9. 3] =1 1,343,404 | 1,449,036 32| 1,082,351 74.7
10. # B = 2,753,387 3,172,582 7.1 2,550,819 80.4
12, 2 & =1 4,792,439 | 4,883,439 109 | 4883044 100.0
13. 3 53 H & 92,805 308,210 0.7 275,602 89.4
14. % ] =1 10,000 10,000 0.0 0 0.0
% H =) E 33,785,000 | 44,691,300 100.0 | 36,503,742 81.7




(2) —FEAZDKR

(B4 F1)
R = 28 6,500,000
SM3EIIABTIBRED 0
g A = B 5
(3) MROBOABRKR ‘
(B FH:%)
SH2EEFTEEE
15 B
L4 [/Et IR AK%E IR A
] R p3o) 3,766,600 3,405,700 3,545,959 104.1
Ll
B & & E 4,003,000 3,664,400 3,800,078 103.7
B B B ®EH & 209,500 209,500 214,039 102.2
m o= E 547,000 517,000 522,725 101.1
A & p3o) 236,800 111,100 95,838 86.3
] m FH OB & 495,000 444,000 462,913 104.3
B it 9,257,900 8,351,700 8,641,552 103.5
M M M
1 A = Y 142,638 128,676 133,142
M M M
1T "/ 5 Y 319,756 288,457 298,468
(SHIBESH31 HER)
A O 64,905 A
H OB % 28,953 iH#Hs




(4) BAEDIKR

X 7 SHMI3FEIABTHBRES m E 1 A & Y
+ th 4,504,456 m 69.40 m
# ) 343,350 m 529 m
B &2 & B #E R 719,893 FM 11,0901 M
i 1 41,130 FH 634 M




2. FRIESETOEITIKR
(B FH: %)

SHM2EERARL FEEE
X o

=L) HEt IRAKEE |URAE| XHFE |ZHFE

B R &R R & 7,355,800 7,641,026 6,880,724 [  90.0 7,073,888 | 92.6
SR EER 990,600 1,009,632 977,122 | 9638 750,501 74.3
t # R K 7,523,000 7,609,298 6,984,621 91.8 6,632,986 | 87.2
MELKERMER 129,400 129,400 91,961 71.1 94835 | 733
MEBELPERMER 192,700 192,500 160,533 | 83.4 155,265 |  80.7
&t 16,191,500 | 16,581,856 | 15,094,961 91.0| 14707475 887




3. EERFOHMITE

(1) AR

(IRZFHIUR )
A (4 F %)
5 4 RH2EEFHEE
L Hat U AR TE 26 IR A
] e = 8,129,758 7,682,991 7,494,185 97.5
= (4 F 1 %)
x4 TH2EEFEEE
=F) Hat WATHE ZE
] e % 8,336,623 8,319,315 8,139,113 97.8
(BEARHIINZD)
= A (4 F 1 %)
% 5 TH2EEFEEE
L) WEt IR AR ERE IRA
] e % 755,857 855,082 778,675 91.1
* (BEf7: FH:%)
g 4 TH2EEFHEE
14 wEt WITHEE X
] e = 1,078,577 1,177,324 1,100,106 93.4




(2) KEEERF

(IR ZE AN X)
= A (Bh T : %)
x N SH2EEFHEE
=F) Hat IR AR EEE IR A2
X o E = 2,575,241 2,504,278 2,476,843 98.9
= (Bh F 1 : %)
x N SH2EEFHE
=F) Hit MITHKEE X
X o E = 2,527,355 2,526,232 2,409,588 95.4
(BEAREINX)
= A (Bh F 1 : %)
x N SH2EEFHEE
=F) Hat IR AR TEEE IR A2
X o E = 720,617 720,617 306,289 425
= (Bf F 1 : %)
x N SH2EEFHEE
=F) Hit WITHKEE X
K OE  O=E 1,573,445 1,604,042 1,487,271 92.7




() F/KEEZXEEET
(IR ZEAIIR )
I A (B FH:%)
= N SH2EEFHEL
X 7
L4 HEt UR R TERE URAZ
T K E =E 1,990,888 1,948,115 1,918,095 98.5
%X H (B FH:%)
= N SH2EEFHEL
X 7
L4 HEt BITEER FTHE
T K E = 1,967,970 1,969,408 1,911,594 97.1
(BEARMIN)
I A (B FH:%)
= N SH2EEFHEL
X 7
L4 HEt UR AR TERE URAZ
T K E =E 1,434,812 1,529,199 1,516,352 99.2
%X H (B FH:%)
= N SH2EEFHEL
X 7
L4 HEt BITEER FTHE
T K E = 2,113,030 2,113,601 2,082,693 98.5




4. ATFERBES FEOMITKE

(1)_ﬂxﬁn
(B FH:%)
X4 = 15 T X 4 FHE XHFEEE XHE
X 8 0 B & @ B OB =T % 1,556 1,555 99.9
2 B B Bl KBEEER
@ B R SRR KB E R 56,285 56,285 100.0
3 R & &2 REFHE|(FH)ALULEHEREERSZ S ¥ 551,084 541,441 98.3
= e ga (R #% )WL R EBERELEIBERK S £
P 2 BREBER| e (R BE) RS 2 466,960 265,916 56.9
4 EEH EHB|IMDRANMEBEGSLEEREASCEERES 3,635 3,546 97.6
B X A K % B E B £ 8% B £ 5,694 0 0.0
. = MR EEREEEES (ZRHEK) 4,200 4,200 100.0
1 2
s éﬁ‘f‘mﬂﬁ@n’i%ﬂﬁﬁé“r%
6 BHKEXE o2 g | & wOE ) 1,340 1,340 100.0
%ﬁ?*?‘rﬂﬁﬁ?&%ﬂﬁf £ X %
B £ 8 B & (BB A K # K ) 1053 1053 1000
2 M E3 ZE | RELEMEERAES ( MERTER) 4,425 4,425 100.0
1 & I EIR A BRE R EME XESE 28,845 3,952 13.7
" " BElLOPEREENEEBEERMRES 22,636 22,636 100.0
7 T
2 B Ox Bl ®bHa4L 3R b EREE R 36,538 33,506 91.7
4
2 T RREHAXLERILEXESE 11,877 1,837 15.5
B OB OB OB T OF ¥ OE % 4,027 4,027 100.0
HRMERESEREX(TECEWER) 30,487 30,437 99.8
P HRERSFEHEE(TEAES SR 54,354 53,887 99.1
2 = = AR ~ ~
M EAEGNFKRERIEBZE X
(X2 % +t EEB K 1B\ 71,105 62,850 884
MEBFIUSRAERRBEEE(ALEHA) 26,015 25,115 96.5
MECHEMISHRERKRE X GHEEHR) 24,957 24,750 99.2
A o& # ® B B L % 3,049 0 0.0
8§ £ K B
1 B % 8 B & & % 8 # £ 8,198 8,091 98.7
hu’ﬁiﬁ%%ﬁ%ﬂﬁiﬁ’ﬁé&%&%%
= ; E&%g = % M £ B 35,095 35,095 100.0
m B E 5 %RH'JE%%HEEQE"’%%
s mmnmml R U B 8B W ® % B 18,500 18,500 100.0
HHHEEE & AK LR ERE
BB s OB a 5 A~ KL R B ) 68,815 51,408 4.7
L BERMEBTELEEHBAE E £ 29,787 27,027 90.7
2 o® % OB OB B & # 2 41,325 41,325 100.0
3 X TR %
AP AR R R R R R wmms| s 1000
Hox E # & #B =2 2,725 2,725 100.0
9 H B BI|1OHE B BI|HE K B ¥ X X B B B 2 450 450 100.0
KR 2BFHREEE P X T L4
O % h RE B B R E E 274,000 99,353 36.3
N RICTH BB B # & £ % 171,245 129,999 75.9
2 N B OB
BEDMDERENEY S BB EE 80,772 80,594 99.8
3 o K B&|4 B1CTH BB E R 65,841 50,861 77.2
10 % F B
5 2K BFE|B HRXRE T ERBFEEBEBERE R 56,199 56,199 100.0
R — v £ v 48 — B B 5 % 101,510 97,554 96.1
_ 6 R HKEE
& W o B B OB OE OB OE fF T X 13,100 11,674 89.1
B HEIXILEE|3 2ELEXE(IK B E W B F £ 4 & 2 6,200 0 0.0
& it 2,428,637 | 1,898,366 78.2
= = br:] z ¥ % FHE X HiEEE XHE
= . N B oK B &8 % 8 = & ¥ 2 7 LA
i 9 H B E|1 K i} Bl & Ff B EB) B [ & 2 145,656 101,413 69.6
E 0 #H F B|5 #28FR|LMROEAMBABEFRTREXR 79,320 0 00
& it 224,976 101,413 45.1




(2) ¥Rl =5t

HEERES FEREHYEEA,

() E£E
RSB XX
MEEZBIFEIHYFEEA,
KEFESE (B4 FH:%)
X5 b3 15 =23 E 3 % |F FE | $ITHEEE | XHFE
BRAREU&EKE 12,074 12,074 100.0
hANESEE
FEDME (2 BAMIZH |1 BEEHHBEE
pal 7aY 4
fid K X [0
“ K W OB B 127,081 120,945 90.8
AN E D EE
FHEF2ED1KEEFXER |1E £ &8 A| T THKIEE 3,025 3,025 100.0
HE (L B8
TKESEESE (B FH:%)
X5 b3 15 =23 E 3 % |F FE | $ITHEEE | HE
A NE D EE N H MR T KE
FBEOHETE2EANMITH|1BEXBEE | ZTERE T KE 105,040 105,040 100.0
I & % #& # B2 % B & B £




5. MRDIKR

(B4 FH, %)

X ) SM3EIASTBRAES B Ok
“® % & 584,290 0.8
K & &' 79,668 0.1
f& & 271,150 0.4
BE MK K E % & 367,544 0.5
] & 514,265 0.7
- * & 2,687,325 38
Bl B % 566,584 038
& # B (E 2,474,494 35
. )] ih (= 229,273 0.3
n B Bf & 1,752,132 2.5
a 6 % # & 9,379,529 13.1
¥ F # 1B & 13,492 0.0
Z ) ith 16,053,921 22.5
Hi 34,973,667 49.0
& w B FT X & 7,547,221 10.6
§ K O E F OE & 13,429,479 188
At T K &B® F X & 15,430,413 21.6
a HJ 71,380,780 100.0
B B B ' & = 20,513,621 28.7
e B OE iF £ & % 1,769 0.0
A BRETRRBEILSE 2,478,595 35
| 0w 0 8RR 7T % 23,505,068 32.9
AL shom st E ke B 22,634,425 317
Z ) ith 2,247,302 3.2




